
 0 lower point 

 1.50 mounting surface
          for both stator and rotor

 5.50 ears height 

 10 
+
 
0.30
0  maximum height (ref) 

 7.70 cable exit height 

Profile view

 10 
H8
  

+
 
0.022
0  

 4.50 

 40 

35 
 
-
0
0.03

mounting diameter,
three places

49
boundary 

Bottom view

AA

3

2

6

5

4

1

 M4 

 0.50 
+
 
0.50
0  

End-shaft with shoulder mounting - example

 10 h8 
 
-
0
0.022 

 35 
H8
  

+
 
0.039
0  

  2 min.  12 max. 

Typical mounting requirements

0.05 A

0.02 A
0.05

0.02 B
0.05

                                    +0
Coplanar with B  -0.05

A

B

1

2

3

4

5

42
PCD for mounting screws

 42° 

3 x  2.2 THRU ALL
 4.6  2

for M2 screws with
DIN 6798A star washers

Top view

DD

 8 max. 
 12 max. 

 10.41 ±0.08  0.50 

 9.40 ±0.08 

Midshaft with hollow shaft - example

⚠ WARNING
Do not use Loctite or any other glue containing Cyanoacrylate. Netzer 
recommends to use 3M™ Scotch-Weld™ Epoxy Adhesive EC-2216 B/A.

№ PART  
NUMBER DESCRIPTION TORQUE INCLUDED QTY

1 DS-40-QR 
Assembly DS-40-QR Encoder ✔ 1

2
 

DIN 6798A Star washer, M2
No

3

3 Hex socket screw, DIN 912, M2 0.2 Nm 3

4

MA-DS40-004

Flat washer, DIN 9021, M4 - ID 4.3
End-shaft 

installation kit, 
optional

1

5 Star washer, DIN 6798A, M4 1

6 Hex socket low cap screw, DIN 7984, M4x6 0.3 Nm 1

№ PART 
NUMBER DESCRIPTION TORQUE INCLUDED QTY.

1 DS-40-QR 
Assembly DS-40-QR Encoder ✔ 1

2
 

DIN 6798A Star washer, M2
No

3

3 Hex socket screw, DIN 912, M2 0.2 Nm 3

4
MA-DS40-002

CS056-L1-S17 Wave spring Midshaft 
installation kit, 

optional

1

5 DS-37 retaining ring 1

The information contaned in this drawing is the sole property ot Netzer Precision Motion Sensors Ltd. Any reproduction in part or whole without the 
written permission of Netzer Precision Motion Sensors Ltd.is prohibited. The drawing is confidential, and is the property of Netzer Precision Ltd. It must 

not be disclosed to a third party without written consent of Netzer Precision Ltd.
SIGNATURE

DS-40-QR ICD

24-Oct-18Michael A.

Assembly

DS-40 A3
SHEET 1 OF 1

SCALE: 1.5:1

PROJECT:

TITLE:

MATERIAL:

DATENAME

UNLESS OTHERWISE SPECIFIED:

DIMENSIONS ARE IN: mm
SURFACE FINISH: N6
LINEAR TOLERANCES: 0.1 mm
ANGULAR TOLERANCES: 0.5 deg
ALL CHAMFER: 0.1 mm x 45°

APPV'D
CHK'D
DRAWN

Coating:

CAT NO. :
07

DS-40-QR ICD

Revision :

F

E

D D

C C

B B

A A

1

1

2

2

3

3

4

4

5

5 6 7 8


	Sheet1
	Drawing View1
	Drawing View32
	Drawing View36
	Drawing View38
	Section View A-A
	Section View C-C
	Drawing View44
	Drawing View46
	Drawing View47
	Section View D-D


